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What is hybridization? Give the types of hybridization and
explain SP3d hybridisation.

Explain hybridization in following molecules
(1) Is"ion (2) SFs (3 (3) IF7

Explain the Werner’s theory of complex.

Explain shape and magnetism of [Fe (CN) ¢]* according to
V.B theory.

Explain eigen value equation with appropriate example.

Derive one dimensional Schrédinger equation.

Derive Hamiltonian operator for Lithium.
What is operator? Explain types of operators.

Explain resemisation by SN? mechanism
Explain E-Z nomenclature.

Explain conformation of below given.

(i) Ethane (ii) n-Butane

Explain Ostwald dilution law and its limitations.

Define the following terms: Specific Conductance,
Equivalent Conductance and Molar Conductance.

Explain group displacement law of Fajan, Russel and
Soddy.

Calculate binding energy of ,C'2 per nucleon.
(Mp-1.0078 amu,Mn-1.0087amu) (1 amu=931.5 Mev)
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aAlsteudy su1 ol oyl Mam 87 Sodalime is the mixture of which two compounds?

sl (ulelle 2y w2 Yellsd — oud2 52112l 528012 For which functional group Mullicken — Barker's test is performed?
dzze FeCly « glag %l A4 o-1950? How will you prepare neutral FeCls solution?
EDTA < 43 UM evil. Write the full name of EDTA.

FeS04.7H,0 Ul gleABlell 2UHIRAL AL 541 Aoyl WHUBLA g1a@ et-ldl As14? Standard solution of which substances can be
prepared to determine normality of FeS0,.7H,0?

Na Hid 18 Al Geulrt stodfis erdnl _ Gawslle ans-l sisrdl 328 8, Evolution of gas with Na metal
indicates functional group inorganic compound.

54l 516U A5 vetdlid NaOH 8 sizwseitell NH;Uy, Gellet 2414 87 Which organic compounds evolve NHsgas on heating with
NaOH?

21l YRu o{R(RIA YL Quil, Write the structural formula of Thio urea.

OO N O RGNS

K,CryO741-FeS04(NH,);S04.6H;0 <Ll v{MIu-i 54l s U4 87 Which indicator is used in a titration of K,Cr,05 and
F8504(NH4)28046H207

10. KMnO, 24 FeS04.7THy0 Al 21Ul EU3Asdl 24 Resaisdl uerdl evil, State oxidizing agent: « cingagent
in the titration between KMnO,andFeSQ,.7H,0.

11,  LsdiRssidier--irrasidayil, Give four types of organic compounds.
12. 2 _coon Faialleriyedluzu wiR-lHssaidlavil. Give one test to detect —COOH functional group.

13. B-iRs_oHWRUAE [45—OHzrys 423 de ealdlsalidlavil, Write a test to distinguish phenolic —
OH and alcoholic —OH group.

14. KMnO, 2R 90l Calculate molecular weight of KMnO,.

15. EpTAacd CaCly.2H,0 -l 2ifHIM-AH1 21 YU5 449l 203 §7 Which indicator is used in the
titration between EDTA and CaCl,.2H,0?

16. Judbi- A=A 3edla-B gl 9 87 What are Fehling — A and Fehling — B solutions?

17.  sildla 26 (>C = 0) HawdL ASuB AR Bslld 2eyel A3 2400, Give any four names of the
functional groups contain carbonyl (>C = O) group.

18.  az22u Fecl will atuiell 491 200 AL A 5161 Uewfell A 2400, Give names of two organic
compounds which give violet colour with neutral FeCl; solution?

19. KMnO, 24 FeS04.7H,0 <l iU £2011 2 N H,S0, WA GAMl 2408 &7 Why 2 N H,S0,
solution is added in a titration between KMnO, and FeSQ,.7H,0.

20.  1.58 2w KMnO, 421441 100 PR gaetlell gLl 32¢ll si4? What will be the normality of the
solution containing 1.58 gram KMnO, per 100 ml solution?

21. huw Bllgil 281 3l W B Al 2118 B?7 Why sodium metal piece is kept in kerosene?
22. SRR Riisow 5208l 3 43 529017 How will you perform Azodye test for Aniline?

23.  C, HAN el Hriadt si61Ris s 511 51 Bl ULl 24l €18 25? Which functional
groups are possible in the organic substance containing C, H and N elements?

24. KMnO, %3 FeS0,.7H;0 - HANIUANL 58 Y25 AURAUML 18 D2 Which indicator is used in a
titration between KMnO, and FeS0,4.7H,0?

25. K;Cry07 21 FeS0,.7H0 «ll 2i-Hu-AM1 #4101 uBad- sfidl 4adl? What will be the colour change
in the titration between K,Cr,0; and FeS0,4.7H,0?

26. aundgely o{tl1R (R4 YA @il Write the structure of Todoform.

27.  uedass w3 BAA 923 Agzalad) 3ls 5202 200l Give one distinguishing test between aldehyde
and ketone.

28. s Rl w3y HRLd sTRS YeIl disltell dRGWR 3 53l dlelosild sy
Due to which functional group of organic compound gives green colorations when heated on copper wire?

29. EDTA 13 MgCl, 2H,0 Ul ¥lofiIu- £1A olfR clgtell M3 GRRAL 203 87
Why buffer solution is added in the titration between EDTA and MgCl,.2H,0?

30 . KCr0, Al RIMR 01@. Calculate molecular weight of K,Cr,0.



